g 8 A A

a2 EAIHE
HE =8 TANE =¥ ol &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
PSP =] 2,633,232 1,659,363 973,869
AN2 TAIME 1,926,129 1,538,240 387,889
a2 ASE TAIAHE =E 1,204,529 1,088,080 116,449
CAHE & SSREE 28 104,529 111,080 6,551
201 fer= 3| 85,089 95,080 A9,991
01 At 2|l 85,089 95,080 29,991
O AZ(XIRES)HE HHZH U223
= 1,000,000 «2IH Atx72] 14,000
OZAIHE HMCH ESHE AMRES 3,178
OS2 HaX 35,0003 *172+90% 536
OEdold 55,0002 x172Z+90f% 842
OZ2H 23 3tEelX
100, 0002 x425x25 x90% 720
OZ2H & 180, 0002 x425x25 %90% 1,080
oZgH &U 230, 0002 *8IH*90% 1,656
OZAANESIRE £
100,000 x402 %152 60,000
OYRE1 +AHZH 6,255
OFLeAE 20N MH
10,0002 5802490% 720
OANEIHE SN HE
15,0002 60 *90% 810
OHFAMRZAL BOM HIZ
15,0003 B0 *90% 1,080
OAEUst 20A ME
15,0002 *60+90% 810
OzS ?I&a 20AM KA
15,0003 *70 *32] *00fk 2,835
203 =4l 16,200 16,000 200
03 A=A 2= 16,200 16,000 200
Ooh Y DIRAGHA EX
6,000,000 *90% 5,400
OtlgEds HRFX 9,000, 0002 *90% 8,100
OXMgHAE HRFH 3,000,000 90k 2,700
301 EtE NS 3,240 3,240
11 #AIAHIXIE S 3,240 3,240
OFAAE & s=7d3 =29 3,240
OFAXt 2HAl| 3,000 +208 223 1,320
OBl HOIK B4
8,000&+20& x123] 1,920
A2IE S ASots TAlZCAE & 200,000 200,000 0
207 ARl 200,000 200,000
01 Sl 200,000 200,000
OAl2I )t 8 ASots TAIZZAHE 8
200,000,000 200,000




SN ASEHE D
Hu: A4DMS CAIRA
SRl A2 dSE TAE 8 (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
HISAIXIS Sgelst SAIZeH= Ehl 200,000 200,000
207 ARl 200,000 200,000
01 H1E4H| 200,000 200,000
OHIZAING S&clet A2 A= bl
200,000,000 200,000
e NAEHAAE =8 400,000 200,000 200,000
207 AR 400,000 200,000 200,000
01 ARSI 400,000 200,000 200,000
OZEs XTI =8
400,000,000 400,000
25 AR =8 300,000 0 300,000
207 ARl 300,000 300,000
01 H1ESH] 300,000 300,000
O%REE N2 =8
300,000,000& 300,000
AU SHicts B85S Al EF2SD| 721,600 450,160 271,440
HIHRAL(EL S) 01 AIY =T 100,000 100,000
207 ARl 100,000 100,000
01 A S| 100,000 100,000
OHEFAIZ 0IM B8d A & JI2AHE =
g 100,000,000 100,000
CAHEEENA Se2E % B 118,000 148,000 /30,000
201 el 118,000 148,000 230,000
01 At2t2ltl 118,000 148,000 30,000
OZAIHEELHIAI(KLIP) 0B B3
98,000,000& 98,000
O&3Z2 TAIFEEAIAHE 28 & 22
20,000,000 20,000
MBI LA At 503,600 302,160 201,440
401 AIEHIZ SR 0HYI 503,600 302,160 201,440
01 Al&HI 500,000 300,000 200,000
O 2 0l 22 3 & A (CPTED) At
500,000,000 500,000
03 A2 THYI 3,600 2,160 1,440
O X 0l 223 & A (CPTED) A+
500,000,000&*0.72% 3,600
HYRAGHI(AESEAHE D) 107,103 121,123 14,020
el 2| 58,063 58,063 0
el 58,063 58,063 0
101 @124H| 58,063 58,063 0
02 JIEtM = 8,443 8,443 0
OSJIM A =2 Rg
11,7263 x28 x30A1 2+ 123 8,443
03 SRH(RIH )22 U2+ 49,620 49,620 0




SN ASEHE D
Hu: MESHA| (MR
el ol ay| (crel &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OXMEHHSH=S HIM 2= 49,620
OJlzs 2,407, 7703~ 1H« 123 28,8%4
o2&+ 17,2003 x 18+ 128 1,408
O¥el=g 50,0002 x1& * 122 600
oul=g 50,0002 x1& 123 600
OJE=g 20,0002« 122 240
OZd=AH| 140,000 x1&x 122 1,680
OZEFIHI 2,407, 7702 »50%+ 15 %23 2,408
OAIZt2l =&
16,6802 x1&*60AI 2t 122 12,010
OYIt2 4| 88,9603 *20 1,780
Jl=2dsl 49,040 63,060 A 14,020
JI=2&Hl 49,040 63,060 14,020
201 er2 3| 22,440 25,360 A2,920
01 AtR2t2|HI 22,440 25,360 A2,920
OJI2gR+=#ESHHI(OI1EZH])
450,000 x20H 9,000
o=zgt(01E2Hl)
8,000 x20EH 7L+ 12 13,440
202 04l 14,400 24,000 29,600
Tl 14,400 24,000 9,600
OB OIHI(D1ZZHI)
20,0002 x20EH*32 * 122 14,400
203 BR8] 10,200 10,200
01 1228 RFa| 6,000 6,000
OJIZEH(42) 6,000,000& 6,000
M FA2HLRFEI 4,200 4,200 0
©JIE2 (252! Olat) 350,000 123 4,200
405 KHAHH SH 2,000 3,500 21,500
01 MMM ESFSHI 2,000 3,500 1,500
o 1,000,000 *2CH 2,000
HRes(AEFAED) 600,000 0 600,000
LA HHXIZ 600,000 0 600,000
LIS HHKIZE 600,000 0 600,000
701 JIEtRI HSHES 600,000 0 600,000
01 JIEI AN ES 600,000 0 600,000
OUXZEAELE N HES[EXNS BLH(E
S3 =20/F 181-1)] 600,000,000& 600,000




Al & 0Ol & AFSE Z Ml A
02435 20ilat LE AYEAHR N ~ MG
SA AEF A
A AR R4
chol: HlOIQAM! MR |4 (ool )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al Z At 40,969,480 46,423,661 A\b,454,181
= 22,500
Jl 1,084,370
= 907,839
Al 38,954,771
SdegEay |4 34,200,494 36,712,327 21,511,833
= 22,500
) 1,084,370
= 788,012
Al 32,305,612
HOl24H MAR S|4 9,178,000 10,069,700 A891,700
XA M (SHYBREl, HH0I22%) 84 1,800 2,000 A200
203 HF=H| 1,800 2,000 A200
03 A= PR FAI| 1,800 2,000 A200
OXNSHEEY PRFX
2,000, 0002 *90% 1,800
LEFHAZ AP UEMNS X 2,900,000 2,900,000
306 E= 2,900,000 2,900,000
01 £g= 2,900,000 2,900,000
OLEIHAZIMANSEHH EHS
2,900,000,000& 2,900,000
SSH0IQ4ssER AHY X2 1,000,000 1,000,000 0
306 £= 1,000,000 1,000,000
01 &2d= 1,000,000 1,000,000
OFSHI0IQUSIEER EH3
1,000,000,000& 1,000,000
& (B0EE 2 1,200 1,200 0
201 fet=3| 1,200 1,200
03 A= 1,200 1,200
OLECEOEHZ2H 1,200,000& 1,200
HIOIQE MBS eIt At (Z HHEAH) 400,000 400,000 0
308 AtXIEMSO0IE 400,000 400,000
07 MRS = 400,000 400,000
OHl0I2 SHAEY e At
400,000,000& 400,000
LESIHEREIMAAMALT HAL X2 (S HSAY) 850,000 850,000
308 AHAIEMSOIE 850,000 850,000
07 HAHH 2252 850,000 850,000
02024 LEHESFREILHMAL JiF|
850,000,000 850,000
K-DAME Sat SHE Als XIJ(S HHEA) 70,000 100,000 /30,000
308 XXM SOIA 70,000 100,000 /30,000
07 AX L= 70,000 100,000 /30,000




A AT AH D
BH: ASTNY B4
Sl HI0IQANY AR S4 (Shol: % 2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OK-ZANE EEME AL K&
70,000,000 70,000
RIZtHI-CHE: 208t NILSSEAMAIG (RIEEXIA) 600,000 600,000
308 AXIHMSOI & 600,000 600,000
07 RIXIEHZ2tREZ 600,000 600,000
OXIXRHMI-CHE &&D18E XIS A ALY
600,000,000& 600,000
DM TR ASAES X2 8RS AN (2R E 250,000 1,000,000 AT750,000
XI)
403 XX SHHSKHE01 A 250,000 1,000,000 AT750,000
02 20| 2SoCHet A2 & 2 EFALZ I 250,000 1,000,000 A750,000
ODMHMEHE ASaEst XA IS
250,000,000& 250,000
HIOIQE A SHAEY J|sASIHEH 2HF(IEEX 1,000,000 1,000,000 0
2)
403 REXISHHIS K201 & 1,000,000 1,000,000
02 ST 2 SOCHE =2 RIEFAIS I 1,000,000 1,000,000
OHIOIREA SHAFEY Js=aE3 dY +
= 1,000,000,000& 1,000,000
HOIS BT|BH 2/ ZJ|D| ASKY BHE DESHANS( 405,000 1,405,000 1,000,000
IIEEXH)
403 MXISHMSKHE0IA 405,000 1,405,000 A 1,000,000
02 I 2SOCHet A2 & I EFALZ I 405,000 1,405,000 1,000,000
OFAHE BIIIE QZID| ISKH EHE
D& A 405,000,000& 405,000
HIRSAHARH (ST XH) 50,000 50,000 0
308 AXISHMSO0IA 50,000 50,000
13 BI 12 S0ICHEHE A X LAE AL 50,000 50,000
o1z adgEsd 50,000,000 50,000
SEE SEXNJMEH HE(2IEERH) 250,000 50,000 200,000
308 AHXIHMSOIH 250,000 50,000 200,000
07 X SH2RES 250,000 50,000 200,000
O3IEZE SEANJMHEYH A
250,000,000& 250,000
HIOIRo|tZ M A MBoIAAMHE HEN(SME XA 1,200,000 0 1,200,000
)
308 AXISHMSOIA 1,200,000 0 1,200,000
07 XIXIEHZ2HREZ 1,200,000 0 1,200,000
OHI0|2o|tBAat MEolE AHHEH HE
1,200,000,000& 1,200,000
BIOIR2%E ARE S FAY 2H (% HEA 100,000 0 100,000
o)
308 AHXIHMSOIH 100,000 100,000
13 BI |2 SUICHEH B A E L EFALZH] 100,000 100,000




SA AEF A
M AdENY |Y
s HiolaH HAHE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBI0I22%E A7 & St FAH 2
g 100,000,000 100,000
HIOIR2/2E AR AMIAL 2E (= HSAY) 100,000 0 100,000
308 AHAIEMSOIE 100,000 0 100,000
183 S| 2SO U ZB & HAEAIE 100,000 0 100,000
OBI0I22%E ~2RE MK 2
100,000,000 100,000
AAF MHEE dEE A 2 16,549,968 13,446,060 3,103,908
HzZSA AGESE M (T HEAIY) 860,015 954,160 A9, 145
308 XtXIEMSO0IE 860,015 954,160 A9A,145
18 SISOt EAS A 860,015 954,160 N4, 145
OANESY 25 - HeAY
583,360,000 583,360
OXJIHE ANESE AFAMY
276,655,000 276,655
AL MEEE olZet X 420,900 421,000 A100
201 2= 20,000 20,000 0
01 At22t2l] 20,000 20,000 0
O4xt atslE 22NE A 20,000
O823y € E2=3 M
20,000,000& 20,000
203 g2l 900 1,000 A100
03 A= PR FA| 900 1,000 A100
OXtsd gFFA 1,000, 0002 *90% 900
306 E¢= 400,000 400,000
01 £g= 400,000 400,000
Os=HALI3a &3
400,000,000 400,000
5 FF LLANLET SE(RIEEXY) 450,000 451,400 21,400
306 £= 450,000 450,000 0
01 2d= 450,000 450,000 0
OF= FF FAUFNLSEF 22
450,000,000 450,000
KIATHA EHEAMS(Z2OHEEXR) 94,400 114,500 A20,100
201 fer= 3| 1,400 1,500 A100
01 At 2|l 1,400 1,500 A100
OSd AXNSER(52) 1,400,000& 1,400
308 XtXIEMSO0IH 93,000 113,000 /20,000
18 SIS0t 34 A A A 93,000 113,000 /20,000
OXIAT & FEA 93,000,000 93,000
OFMAZIHD|BE OIXEX ATHEE HAEHE 2F(2 3,520,000 3,270,000 250,000
IFEERI)
402 DIZHXHE0I A 3,520,000 3,270,000 250,000
01 QI X2 AL E R (KM TH) 3,520,000 3,270,000 250,000




A AT AH D
A MM 54
SISl 4%t MUY HETAl P (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OCtMAIZ|HD|BE OIXHNMX ATHEE HAE
HE 2= 3,520,000,000& 3,520,000
WL SEMS BiEH2 HEARIE I8 RH(30t 1,356,500 1,756,000 399,500
ESFSONECD!
403 REXISHHIS K201 & 1,356,500 1,756,000 A399,500
02 SIS0 CHSt A2 A 2 EFAFHI 1,356,500 1,756,000 A399,500
ow 2 SZME el et™AZlE O
gt=s 1,356,500,000& 1,356,500
A DURIE| @AM B4 oDt AH(2IHE 2,555,000 2,295,000 260,000
X&)
402 QI X201 ™ 2,555,000 2,295,000 260,000
01 QIZEXH2 A 2 (RERITH ) 2,555,000 2,295,000 260,000
Ozlgtd LBl =2Z3H &4l olZer 7
= 2,555,000,0002 2,555,000
SEA OIXEX HAANTH J|=4AS L HIOKIA 23 288,353 0 288,353
= AER(BIETXL)
403 REXISHHIS K201 & 288,353 0 288,353
02 SISO CHStR=2 X RIEAIS I 288,353 0 288,353
OSEE OIXtAEX HAALTY JD=aE L B
IRE EEHS 75 283,353,000& 283,353
EHCZ0HOIXIEX]) SEASEUHE(ZIIEEXIA) 200,000 0 200,000
403 REXIHMS K201 200,000 0 200,000
02 S| 2SO CHEt =2 X RIEFAIS I 200,000 0 200,000
OFCHZ20HOIXIARI) EASEUE
200,000,000& 200,000
EBAXZAS 25 BIEXSERE JI=Xd A (It 4,644,800 0 4,644,800
X&)
403 REXISHHIS K201 & 4,644,800 0 4,644,800
02 SISO CHStR=2 X RIEAIS I 4,644,800 0 4,644,800
OEtA 22 e BIEHESEEE =X
4,644,800,000& 4,644,800
NsSEEITH IT A2E NJHE 2EAS(20HEEA 1,650,000 0 1,650,000
2l)
403 REXISHHS K201 1,650,000 0 1,650,000
02 SO 2 SOHERH=2ERIEFAIS I 1,650,000 0 1,650,000
OXIsEEEH IT AR XNJAHH 25
1,650,000,000& 1,650,000
BIE X S53 UE X3 MG (20 XA) 200,000 0 200,000
403 REXISHHIS K201 & 200,000 0 200,000
02 SISO CHSt A2 X RIEAIS I 200,000 0 200,000
OBt S&3 tist X
200,000,000& 200,000
S 8 EE 215 AYAIY(Z2IIREXE) 100,000 0 100,000
403 REXISHHS K201 100,000 0 100,000
02 SO 2 SOCHEAH=2ERIEFAIS I 100,000 0 100,000




SA AEF A
A AR KA
SR AR MEEE dEE Al A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostef g BAB 7= AEME
100,000,000 100,000
OIXtA R XS A dEHPHE(RRC) XI#AFS (=04 10,000 0 10,000
AEXH)
403 AXIEHMSAH=01d 10,000 10,000
02 SVI2S0 U H=E S AL 10,000 10,000
OXISA&E A dCHARHE(RRC) KIFAS
10,000,000 10,000
OIXIE X St =X 2H(E HSAIY) 200,000 0 200,000
308 XXM SO0IH 200,000 200,000
18 SIS0t 4 A AS At 200,000 200,000
OO0IXtE X Satetil =8 28
200,000,000 200,000
CIOIE ISty e & AODIERAl &4 2,408,234 4,624,706 N2,216,472
HelSHAZAIAY 2el 52,353 0 52,353
201 fet= 3| 52,353 0 52,353
02 S3=gHl 52,353 0 52,353
OHAZECH0l 72 43,713
OAlZ &I Xl 240,000,000 *8%*90% 17,280
OAIAE elZet(H/W) S XI2tel
124,000,000 *8%+90% 8,928
OSESAS(AHIOIX) RX2e|
194,500, 0002 *10%+90% 17,505
OHEUSAHXZAAH HESH AL AIEZ
100,000 x40 2% 123 4,800
ONHUSSHXHAAH HI23
80,0003 44 A+ 128 3,840
CIOIE DBt - Edat =& 150,000 1,331,000 1,181,000
201 er23| 150,000 23,000 127,000
01 AtR2t2|HI 150,000 23,000 127,000
OUIOIEHGIE E3E 243 22HHI0IH +
OH 150,000,000 150,000
AZEYN OIS M (2B XH) 396,287 253,101 143,186
308 XtXIEMSO0IH 396,287 252,648 143,639
18 S [2S0tHer 34 A A A 396,287 252,648 143,639
OSWOIHHS A 396,287,000 396,287
SSESZ2LNSHEHSS (ST XY) 960,000 960,000
308 AHXIEMSOIH 960,000 960,000
18 SO 2ASHUSHE X AS AN 960,000 960,000
OS2 HEHH 28
960,000,000 960,000
NSEZHAH 2.0(Bt=H S3HAIY) (OHEEERIR) 736,000 755,000 19,000
308 AtXIEHMSOIE 736,000 755,000 19,000
13 SI[2S0He & EAS A 736,000 755,000 219,000




SA AEF A
M AN |Y
CHl: CIOIEIDIEHE DB U ADIESAl X4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMWSE2eIAH 2.0 SSAS (BEH) (5RHE
<) 736,000,000& 736,000
ANZ 3L SEAMSE(E HSAIY) 51,819 61,909 10,090
308 AHAIEMSOIE 51,819 61,909 10,090
183 S| 2SO U ZB & HAEAIE 51,819 61,909 210,090
Q20243 Al 3¥HYMY FEAIY
51,819,000 51,819
SRES ASHAT HAX KA (2O EXIH) 55,39%6 48,417 6,979
308 XXM SOIA 55,39%6 48,417 6,979
18 2O BSUICHEZ AR S ALY 55,3% 48,417 6,979
OR2EE MBXOR HATIRAY
55,3%,000& 55,3%
AMEZAl 24 29 5,010 63,910 58,900
201 er23y| 5,010 63,910 /58,900
01 AtR2t2|HI 5,010 6,700 1,690
OANIEZAIMNEES 29
300, 0002 32| *90f% 810
OADIEZAIANEE 3 28+
200,0002 7 H =33 4,200
ST JIGXAAAE 22 1,369 1,369
201 Ler23| 1,369 1,369
02 s5=34l 1,369 1,369
OSZUT JIHXNHAIAYE RAE=H]
13,690,000 *10% 1,369
HIHX X AE 3,647,874 3,909,401 N261,527
Il 1,000,370
= 597,712
Al 2,049,792
ORI & &t 16,550 16,700 2150
201 er2 3| 16,550 16,700 A150
01 AtR2t2|HI 8,550 8,700 A150
oryIgtHae| EEEE FE
10, 000& » 15074 *90% 1,350
02 BF HUX HES 915 012
A FAeg 100,000 x6& *122] 7,200
2 35234l 7,000 7,000 0
©21290] S - HURNAE XYHL 2o
3 g3y 7,000,000& *12] 7,000
ATHMOIA X FEXIRAIS (S EXIH) 335,600 738,000 A402,400
s 157,800
Al 177,800
402 2I2F X201 & 335,600 738,000 A402,400
[ 157,800
Al 177,800




SA AEF A
M AATANY B4
el OIHAl AHg &8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 BIREXHEAIY B E (AR ) 20,000 240,000 220,000
OFLUTR BTAY (XY B S)
2,000,000 * 1090 2 20,000
02 QI XHZ AL E R (01X THE) 315,600 498,000 182,400
OxexE BRI (HILR)
1,200,000 *263H 2~ 315,600
== 157,800
Al 157,800
ATHANU X AS XA 120,000 210,400 290,400
= 48,000
Al 72,000
402 QI2F X201 & 120,000 210,400 290,400
= 48,000
Al 72,000
02 RIENZAIEE X (01 THR) 120,000 210,400 290,400
OA=E g 2SAL
400,000 *130KW 52,000
== 20,800
Al 31,200
OFMSIINE B 2SAY
400,000 *170KW 68,000
= 27,200
Al 40,800
AHAUUE X SSEA2AS 2,124,224 2,857,871 NT33,647
Jl 1,000,370
= 391,912
Al 731,942
402 2I2F X201 & 2,124,224 2,857,121 AT32,897
Jl 1,000,370
< 391,912
Al 731,942
02 QI X2 AL EE (01X THE) 2,124,224 2,857,121 AT32,897
OAITHHEMU X E=EXIZ A (AITHA 0l L
XI&Hl) 2,124,224,000& 2,124,224
Jl 1,000,370
[ 391,912
Al 731,942
KSUHUEX SeAH ATHEHAISE (SIHEERIE) 52,500 47,500 5,000
308 AHXIEMSOIH 52,500 47,500 5,000
18 SIS0t A AS A 52,500 47,500 5,000
OXISMUX SAHAH AITHSE At
52,500,000 52,500
WX MHSAHE el=Zet = 2 29 ARG (2HEEX 1,000,000 0 1,000,000

=




SESgaaei
SEaY 84
Al XE &8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 1,000,000 1,000,000
18 SIS0t 4 A AS A 1,000,000 1,000,000
O XSS Qluet 5 & 28 At
1,000,000,000& 1,000,000
IRl =X & 2,416,418 3,662,460 A1,246,042
= 22,500
Jl 84,000
== 190,300
Al 2,119,618
JbA orE e 2,304 10,960 A8,656
201 Ler23 | 1,404 9,960 8,556
01 At2t2ltl 1,404 9,960 N\8,556
OotAordate] 2 iU XNIZESE S5 A
70,000 *20H 42| *90% 504
ouuUXIZe 2288 7Y
10,0002 *100IH*90f% 900
203 =4l 900 1,000 A100
03 A=A 2= 900 1,000 A100
Ol XI2e| At =2
1,000,000 *90% 900
ADtA S5 £X1 X2 A 550,000 560,000
402 QI”F X201 & 550,000 560,000
01 QI X2 AL E A (KEHITHE) 550,000 550,000
CADIA S52 EX N3
687,500 *B00A TH 550,000
[2FHS XIS XIALS 140,000 1,836,000 1,696,000
Il 84,000
= 16,800
Al 39,200
402 2IZtA=01d 140,000 1,836,000 1,696,000
) 84,000
& 16,800
Al 39,200
02 QI X2 AL EE(0IHTHE) 140,000 0 140,000
OMASE LEDXE WHAIS
70,000,000& 70,000
) 49,000
< 6,300
Al 14,700
OA2ISXIAIE LEDEYE WAL
70,000,000 70,000
Jl 35,000
== 10,500
Al 24,500




SA AEF A
M ALY JY
=Rl HIUHA =X &S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=A% SHA 2Y 1,115,114 829,000 286,114
307 elztol & 1,075,114 829,000 246,114
05 2IHRIE S 1,075,114 829,000 246,114
OBFLABEA 2121923
242,846,000 242,846
OTJ=AEHA BIZIRIE (=)
204,641,002 204,641
OJNRBAHAEHA QIS (2A)
202,069,000 202,089
CELESN PN CICED
219,439,000 219,439
OMULABHL DIZHSIE(LO])
206,119,000 206,119
401 Al HIZL 201 40,000 40,000
01 Al&HI 40,000 40,000
OMAE g AlE EXIHI(22A+=25H
a) 40,000,000 40,000
ZorsE 0= A2A 564,000 145,000 419,000
= 169,000
Al 395,000
401 Al HIZ S OHbI 564,000 145,000 419,000
s 169,000
Al 395,000
01 AlZ8| 564,000 145,000 419,000
OL&l1el 44081X 23 0tS2t2 ZHISA
45,000,000 45,000
< 13,500
Al 31,500
OL&2e| 728X 23 =2 JHISA
400,000,000 400,000
S 120,000
Al 280,000
OclE 20454 OLAZ MR SAt
54,000,000 54,000
& 16,000
Al 38,000
OgAH2el 8212 L& =2 ZJHISAH
65,000,000 65,000
= 19,500
Al 45,500
LPGSI] ALZIt AIEIHE A (E A1) 45,000 157,500 A112,500
= 22,500
= 4,500
Al 18,000
403 AXIEHMSAH=Z01d 45,000 157,500 A112,500




SA AEF A
M ALY JY
R ou Xl =X A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 22,500
=S 4,500
Al 18,000
02 S7I2S0 U H=E 2 EAIEI 45,000 157,500 A112,500
OLPGEI| AFEItT AIEHE ALY
225,000& *2009+= 45,000
= 22,500
= 4,500
Al 18,000
ASEHMH 5 6,300,000 10,200,000 A3,900,000
A =4 6,300,000 10,200,000 A3,900,000
30800 HEAHS 5,700,000 10,200,000 24,500,000
403 AXIEHMSAH=0ld 5,700,000 10,200,000 4,500,000
02 SIS0t =22 P E A I 5,700,000 10,200,000 4,500,000
O3 0800 A& 5,700,000,000& 5,700,000
E=:0800 24 600,000 600,000
308 AtAIEHMSOIE 600,000 600,000
07 HAHH 2R 52 600,000 600,000
OF 0500 =< 600,000,000 600,000
SAHMY 2ot 420,578 447,902 N2T7,324
= 119,827
Al 300,751
atet SH 2l 420,578 447,902 N27,324
=S 119,827
Al 300,751
SAHAEE SHOIX 2 18,702 18,245 457
101 ©1AH| 18,702 18,245 457
M ORNZZ2NSE S 18,702 18,245 457
OSHBTE LAIAMHUESY 18,702
OJlZ=s 78,8803 x1H 262 +8F 16,408
OE &=l 200,000 22 400
O=UA=SFE=3 16,807,040 *4. 5% 757
O=UALEH=FES
16,807,040 *3.545% 5%
OFIIRLEEERES
596,000 *12.81% w7
OUNEEE=RE3
16,807,0402 *1.75% 295
OutHEE 16,807,040 * 1% 169
JIE SHZEA 14,480 34,985 A20,505
201 Ler23 | 14,480 34,985 A20,505
01 At22t2lt] 14,480 34,985 A20,505
OSAHSE &2t 46,0002 x20052 9,200




SA ASTAEDL
. SAHNMY 2d3t
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHRDE Bx w2t
24,0003 x220F 5,280
AL M =S HZAL 300,674 308,294 7,620
= 84,882
Al 215,792
101 21AH| 77,985 83,407 Nb,422
== 23,408
Al 54,577
M ORNZZ2NSE S 77,985 83,407 Nb,422
OAHH ZARP B 77,985
OZ A2t RH20Y, 282) 32,084,000& 32,084
= 9,628
Al 22,456
OZS&elxH4g, 28Y) 6,420,000& 6,420
=S 1,928
Al 4,492
OZAKI2 22l XH5E, 28Y)
7,735,000 7,735
= 2,325
Al 5.410
O ed (4, 18Y) 23,856,000 23,8%
= 7,158
Al 16,698
@Z1N k= ¥=3 7,890,000 7,890
[ 2,369
Al 5,521
201 er23| 222,689 224,887 A2,198
= 61,474
Al 161,215
01 AtR2telHl 222,689 224,887 A2,198
OAMSHEAL A& RO & ARES
7,285,000 7,285
OAEHZAL S8 60,0002 *50H 3,000
OAHM AL 210K g2t
50,0002 150 7,500
OZFAH E2HI(133%, 262
190,939,000 190,939
= 57,284
Al 133,655
OZ=AY wSHI(133Y, 25¢)
13,965,000 13,965
& 4,190
Al 9,775
2 - MEHSHZA 1,330 1,330 0




2A:

3 %;I&% 2435t
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,330 1,330
01 At2teltl 1,330 1,330
OZg, M=zg A EE(89)
70,0002 197K 1,330
SSASIXIENLEAHZA 85,392 85,048 344
=S 34,945
Al 50,447
101 ©1AH| 56,988 56,912 76
< 28,493
Al 28,495
M ORINZZ2NSE S 56,988 56,912 76
OMIIXHNLSHEANRA = 56,988
OZ ARl A} 81,8402+~ 162 10,476
= 5,238
Al 5,238
OZXAHA 78,8803 x32H ~ 16 40,387
== 20,193
Al 20,194
O 78,8803 x8H 02 5,680
= 2,840
Al 2,840
@ZIN L==h= Y= 445,000 445
= 222
Al 223
201 et 3| 28,404 28,136 268
< 6.452
Al 21,952
01 At2t2lt] 28,404 28,136 268
OXALE & M4 1,000& +5,000% 5,000
= 1,500
Al 3,500
OxXAES 7Y 10,0002 x50 500
= 150
Al 350
bt 60,0002 *40H 2,400
& 720
Al 1,680
O8E oHi= 1,500,000& 1,500
= 450
Al 1,050
OEE=3 12,104,000& 12,104
=S 3,632
Al 8,472




S ASR A
HH: S)ael 25
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
||| o=ns g 69,0002 * 10052 6,900
ST 22| (Al S T AL L) 48,408 63,432 A15,024
|=2| 48,408 63,432 A15,024
=&l 48,408 63,432 A15,024
201 Ler2o| 26,928 30,432 A3,504
01 AR 2t2lt| 26,928 30,432 A3,504
0224 AY| 450,000 %24 10,800
CEETIFIE=TI)
8, 0002142427 * 1224 16,128
202 OH| 17,280 28,800 A11,520
01 2UH0dHl 17,280 28,800 A11,520
©7I1=&H| 20, 00021 #2423 » 128 17,280
203 PP =TI 4,200 4,200
R TSI 4,200 4,200
©I1Z% (2501 0|5t) 350, 0002+ 122 4,200




g 8 A A

SN JIPE It
M SADHY
Rl M2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ISt H 1t 26,787,646 12,798,101 13,989,545
= 5,740,000
== 12,652,860
Al 8,3%4,786
SAIDHE 26,751,700 12,750,347 14,001,353
= 5,740,000
< 12,652,860
Al 8,358,840
AFA X 2t 7,508,480 134,040 7,374,440
= 3,500,000
== 1,952,860
Al 2,055,620
FAE=2E 20,160 14,040 6,120
201 2= 20,160 14,040 6,120
01 AtR2t2lt] 20,160 14,040 6.120
OFFAl JIsX=2RdE HH 20,160
O&FA =g 100,000 x18H+73] 12,600
OArE QtAH ==& 30,0002+ 182+ 143] 7,560
AAET] SAD|Y SEIZ NSAS (HEAY) 405,720 120,000 285,720
== 202,860
Al 202,860
307 212+01& 405,720 120,000 285,720
[ 202,860
Al 202,860
02 LB HAHE L 405,720 120,000 285,720
OARER BAJIY BE2 XY YX X
405,720,000& 405,720
= 202,860
Al 202,860
H=ACH SEZHHEH(ADIEDRIAE) ALY 7,000,000 0 7,000,000
= 3,500,000
= 1,750,000
Al 1,750,000
403 MR HHMSAHE01H 7,000,000 0 7,000,000
= 3,500,000
& 1,750,000
Al 1,750,000
02 SISt U2 S A AEHI 7,000,000 0 7,000,000
OFFUHSH 2N A=A
7,000,000,000& 7,000,000
= 3,500,000
< 1,750,000
Al 1,750,000




2A:

JIBtE &t

M SADHY
Rl M2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHCHL] SENIA OMNME2E XYM (FIHEE 82,600 0 82,600
X&)
403 AXIEHMSAH=0l 82,600 82,600
02 SJ|2S0tiet iz feeta] 82,600 82,600
OMACH SHOIFTA ObF2M KA
d2xEE) 82,600,000 82,600
AHEX 15,181,220 5,228,407 9,952,813
= 1,459,000
= 9,450,000
Al 4,272,220
s Eatalgeahe PNESS YN Jos RSt 14,220 16,547 N1,327
201 er=23y| 12,420 13,547 A1, 127
01 AtR2t2|HI 11,220 11,220 0
Ottt s & 22l 2t
935,000« 1CH* 122 11,220
2 35244l 1,200 2,327 AT 127
oxtgs=U 1,509 +52| B+ 150 1,200
203 HR=H| 1,800 2,000 A200
03 A=A FAIH| 1,800 2,000 A200
odtetry & 22l
2,000, 0002 *90% 1,800
QEHILZ2A EZ2 XA (B EALY) 3,000,000 1,000,000 2,000,000
== 2,100,000
Al 900,000
401 AIEHIZ SR 0HYI 3,000,000 1,000,000 2,000,000
[ 2,100,000
Al 900,000
01 Al&HI 2,745,000 1,000,000 1,745,000
OFHIALESCIA SAlE ZXIA
2,745,000,000& 2,745,000
= 1,921,500
Al 823,500
02 Zcltl 238,000 0 238,000
OLFHIALZClA E+SSAE EXIAY
238,000,000 238,000
< 166,600
Al 71,400
03 Al CHYI 17,000 0 17,000
OLFHIA=ZclA SAIE EXIAY
17,000,000 17,000
= 11,900
Al 5,100
HEFEC LM E-SSAIE XA (HEA 3,000,000 0 3,000,000
2)
[ 2,100,000




A DBt E
M SADNY

(0 A= = PN T~ EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 900,000
401 AlEHIZ S OHbI 3,000,000 0 3,000,000
S 2,100,000
Al 900,000
01 AlZHI 2,100,000 0 2,100,000
OHEEHT LHNACT BLZIAL &
XA 2,100,000,000& 2,100,000
< 1,470,000
Al 630,000
02 Zeltl 900,000 0 900,000
OLEFHET YBNACHT] BLBIAL &
XA 900,000,000 900,000
= 630,000
Al 270,000
SO0IMEHI] B34 AXAS (HEA) 3,000,000 1,000,000 2,000,000
[ 2,100,000
Al 900,000
401 Al HIZL 201 3,000,000 1,000,000 2,000,000
= 2,100,000
Al 900,000
01 AlZH| 2,400,000 800,000 1,600,000
OS0IMUEX BTSN SXIAY
2,400,000,000& 2,400,000
= 1,680,000
Al 720,000
02 2/l 600,000 200,000 400,000
OS0IMAET BTSN HXIAY
600,000,000 600,000
S 420,000
Al 180,000
NREHI-YE E+3SAE SINAL (HEAIY) 1,000,000 1,400,000 A400,000
= 700,000
Al 300,000
401 AlEHIZ S 0HbI 1,000,000 1,400,000 400,000
=S 700,000
Al 300,000
01 AlZHI 745,000 1,400,000 655,000
ONRBEHI Lol BLBIAE LML
745,000,000 745,000
< 521,500
Al 223,500
02 Zeltl 250,000 0 250,000
OMLEH I8 S+SSAIE EXIAY
250,000,000 250,000




2A:

E M

JIBtE &t
SADHE

Gl MAEREA EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 175,000
Al 75,000
03 A2 THYI 5,000 0 5,000
ONRFHA Wl BLTIAL SXMY
5,000,000& 5,000
= 3,500
Al 1,500
LFHIA=ZCA H=AAXCIAIE XA 607,000 712,860 105,860
= 399,000
Al 208,000
401 Al HIZL 201 607,000 712,860 105,860
= 399,000
Al 208,000
01 A&l 457,000 712,860 A255,860
OFHA-E2IA HASAHMIAL &X
At 457,000,000 457,000
= 300,000
Al 157,000
02 22/l 150,000 0 150,000
OLFHIAZCIA HEAAXMIAIE EX
At 150,000,000% 150,000
= 99,000
Al 51,000
EFoH0IHIIEe| LBHMAHR SIS AE EXIAHY 3,500,000 1,000,000 2,500,000
(HEALY)
S 2,450,000
Al 1,050,000
401 AlZHIZ SO 3,500,000 1,000,000 2,500,000
S 2,450,000
Al 1,050,000
01 A&l 2,300,000 800,000 1,500,000
OFFoI0IEIZ LA E=SSAIE
HIIA 2,300,000,000& 2,300,000
= 1,610,000
Al 690,000
02 Zeltl 1,200,000 200,000 1,000,000
@"4 SlOIEHIZ 2BHMHER] E+33AlIE
XA 1,200,000,000& 1,200,000
s 840,000
Al 360,000
HEFET &Y SSH=XMelAE XA 760,000 0 760,000
= 760,000
401 Al HIZ S 0HbI 760,000 0 760,000
= 760,000




SN JIPE It
M SADHY
(0 A= = PN T~ EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 760,000 0 760,000
OYBZEBT UBMACIT TTHSHEIA
a2 ZXIAY 760,000,000 760,000
= 760,000
QEVWSIAACT] SSHTXCIAE SEA 300,000 0 300,000
= 300,000
401 AIEHIZ SR THYI 300,000 0 300,000
= 300,000
01 Al&H| 300,000 0 300,000
OQESHAIALK BRHSHIANL B4
Ar& 300,000,000 300,000
= 300,000
AHR S TH A4 4,062,000 7,251,500 A3,189,500
= 781,000
< 1,250,000
Al 2,031,000
EFAE THAALY 1,562,000 7,251,500 /5,689,500
= 781,000
Al 781,000
401 AlEHIZ 2018 1,562,000 7,251,500 25,689,500
= 781,000
Al 781,000
01 AlZH| 1,562,000 6,949,625 N\5,387,625
OF AP THAA
1,562,000,000& 1,562,000
= 781,000
Al 781,000
B QFStAE THAEANY 2,500,000 0 2,500,000
= 1,250,000
Al 1,250,000
401 Al HIZ 2018 2,500,000 0 2,500,000
= 1,250,000
Al 1,250,000
01 A28l 2,500,000 0 2,500,000
OFFQHUSHAATHR] THAA (HA Al S
HE =8 29) 2,500,000,000& 2,500,000
== 1,250,000
Al 1,250,000
BH2IZHIO1EEE L) 35,946 47,754 11,808
Jl=3H 35,946 47,754 A11,808
Jl=23H| 35,946 47,754 A11,808
201 er2 3| 19,386 22,554 A3,168
01 AtR2t2|HI 19,386 22,554 A3,168




SN JIPE D
M HH2HHHI(JIEtEE D)
s Jl=2ghl EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
oJ|lzgR=#AYI(01EZI)
450,000 x 18 *90% 7,290
O=&HI(JIE&HI)
8,000 x18F 7L+ 12& 12,096
202 04d| 12,960 21,600 28,640
01 =W0dbI 12,960 21,600 28,640
O=3U0itI(O1=ZHI)
20,0003 = 18H +x3* 12& 12,960
203 =& 3,600 3,600
M RA2IHRFALI 3,600 3,600
©JIEA4 (202! 0lI5t) 300,000 123 3,600




Al & 0Ol & AFSE Z Ml A
02435 20ilat LE AYEAHR N ~ MG
A HEL S
HEM: CAITHA
Chel: SAITHA 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
& & 8,805,529 35,156,984 A\26,301,455
= 4,161,000
== 590,200
Al 4,104,329
S AITHAY 6,208, 130 33,129,480 26,921,350
2 2,504,000
< 397,000
Al 3,287,130
SAITH 2t 1,366,815 1,265,957 100,858
HFA SAMAX2ME2E 1,078,875 1,097,598 18,723
307 glztol & 1,078,875 1,047,598 31,277
05 2IMRIE =3 1,078,875 1,047,598 31,277
OFFAZAIMEXN ALY 2
1,078,875,000& * 100 2 1,078,875
HEAE 2| 277,940 158,359 119,581
201 fer= 3| 274,940 185,359 119,581
01 AtR2tc|HI 141,230 60,850 80,380
OF=Al AId5I24H 5,544
OAgota 2te] 132,000« 12& 1,564
OsZoleta el 110,000& ~ 12& 1,320
OBYIIATAAL 248
140,0002 %12 140
(OESUFSPNEEl| 165,000« 128 1,980
OZXEA 260,000 23] 520
O7F=0XNE 2,450
O&| ot 2t 135,000 6 810
OAgord e 140,000 6 840
OsZolerdate] 110,000& +6E 660
OBYIIATAA 242
140,000& %12 140
OTANTHAGISHIE 2 HAMTAIR 49,616
O&JlerE 22| (294 2)
300,000& * 128 3,600
Oagrordzie| (200 4)
500,000& * 122 6,000
OzI|eT B (WA
418,000& x 12& 5,016
OSLINQTBA +42(2W4)
140,000 *22] 280
ORIMIBHI (294 2)
310,000& 122 3,720
OgaRXZel(2x)
2,500,000& 123 30,000
OHSEEA(20HA) 500,000 22 1,000




[}
I

oF

0J

)
Y
K0 Z0 20
==
V<<
=WHWH
X &M oF
IF R0 O)

-

39,201

no
KIo
E
B
3
o
I3
L&
<
KIS
wmm%% LS8 8 8 wwmmmmm S 33388823998 F S S8 I F
N~ QM @ ™ — O © o — O < N (e} (<o) AN © N < O~ N O M AN N — © — QO 0O W O O —
- = = = 28 < - = gy o o S < ad~-g oo S8 g N
3
<
S
] MWW W W TR T = R w4 A m U U= WoW W W E o o
d] oW oW X% wowow 55 % @ o I S ® o W Ow W 8 ®ow w w R L &
- o =] S 8
wlzs €58 & E68 58888 & & 5 58 EEE. g8 g8, 26
m oy 822 Y ggs ¥B8Fgs § 2 Lg §s gexy g ggu 8%
- |0 = o g8 ©°S = 8 . N
o g g 5 N
- nJ [te} - <
= |r - il
o+ RO &l =
=z |m " " = 4 il a
. o <+ <+ K- <+ = o
= |& < <+ © <+ i T o h
= | - __mx M = 5 = 4 F s T A4S Y=
o =< m oo A AD m oo A Al HA_.HE%EE A0 0= B mrR I S0 = K o
oF |W FARR TAXNRER ROA MR R OR A Z A A 50 of of D] & & of ok W o4
3 | DRRrRoY DRI AIRKRSRI of REGAUEIT=MMUIBMMUHE M K0 H
- I w eI SA~ Ids~~ K®MEROEWSI A~ ~ O 35 B X ool o F < 0ok o kS o<
o [P_O S m B H RAASHAH H ARSI I WES I JWWS P
i ol B <4 A0 KR <A = <FOF R T 4 b m DR MK R W DR <R AR
RO |Kkmo of O O O O RO O O O OO O0OO0O=xT0O0 O O WO OMH®ROOOOWOOO OO OO0
M © ©) © © © @@ © @)
I+




2A:

Mo &

HEM: CAITHA
Chel: SAITHA 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osties 66,0002 6 3%
Od=+=dK Xl 1,320%1%1,145.52m’ 1,523
OHZZ2YH 13,426
o&lIes 900,000& * 122 10,800
Osties 100,000& ~12& 1,200
Odotrees=s 50,0002 123 600
Od=+=dK Xl 1,32081+621.263m 826
OFEo5i2HH 7,618
OdE=dK Xl 1,3208%5,732.1m’ 7,618
OM&0elOl=E XIoH=AtE 8,771
OFSPIEei=) 200,000 x 122 2,400
Ostes 60,0002 * 122 720
Odlot= = 50,000& * 122 600
OdE=d7 Xl 1,320 %3,800m" 5,051
Odots A ABAIE 5,464
OFSPIEe=) 284,000& * 128 3,408
Ok 70,0003 * 122 840
OdE=dK Xl 7283 +1,670m 1,216
206 MH=HI 3,000 3,000
01 MHZH| 3,000 3,000
OZAMYASHE R AAEAIZ A2F
100,000 *30H 3,000
CANY d2005 A XIa 10,000 10,000
308 AtXIEMSOIE 10,000 10,000
18 SISt HAS A 10,000 10,000
OZAIMY ME018 AEAYE K&
10,000,0002 10,000
ATH &S 5t 296,300 18,483,127 18,186,827
SAITHAY EdStAE =8 296,300 18,482,300 18,186,000
201 er2 3| 16,300 9,300 7,000
01 At2t2lt] 16,300 9,300 7,000
OZAMERARA HA 4
200, 0003 *15H 23] 6,000
O AHEM A2 (2 SHH R ) - (B
HESIE 1,500,000 *32] 4,500
OZAINY MEI N2 4,000
OJlzessg 100,000 *5& *43] 2,000
Ozxt+¢& 30,0003 x5 *43] 600
OetAdAt=¢ 70,0002 x5 H *43] 1,400
OFANY E2= MH
500, 0002 42| *90f% 1,800
401 Al HIZL 201 280,000 18,473,000 18,193,000
01 Al&H| 260,000 18,473,000 18,213,000




2A:

Mo &

HEM: CAITHA
Sl TATHYEL St (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ogeots HE(NZ)AL JIEA=SS ) &
SAEH 260,000,000& 260,000
02 Zaltl 20,000 0 20,000
odgets HE(HE)AE JIEAFE E
20,000,000& 20,000
CATHS =E A 3,459,615 13,380,3% 9,920,781
= 2,024,000
= 313,000
Al 1,122,615
Ch 20l 0=cdle R20t=, M2 Bolte E<2! 196,637 11,487,000 A11,290,363
101 21AH| 83,803 99,503 15,700
04 JIZtN2Z2XNS 2+ 83,803 99,503 A15,700
OZAMNEHEXHME S0 83,803
OAZEA(ZZ2ZLIUI0IH) 2I24t|
120, 2003 x 1 +262 « 12 37,503
O&2A (=3 2CIUI0IH) 2121y
91,4802 x 1 +262 * 122 28,542
OAlZ2IZ22+(SS20UI0IE)
22,5303 x1H#2A| 282« 12 4,326
OAZel 2248 (ZSACIH0IE)
17,1503 x1Z#2A| 2H+82L« 123 3,293
Og &SIl 200,000 x22H+23] 800
(OZIN L-=y= Y= 8,379
=83 74,464,000 *4 . 5% 3,351
-AY2E 74,464,000 +3.545% 2,640
“AIRAYEE 2,640,000& %12.81% 339
A== 74,464,000 *1.75% 1,304
—MHHEE 74,464,000 * 1% 745
OaZ2AE =0
20,0003 22122« 12 960
201 er23| 64,488 218,200 A183,712
01 At2teltl 58,920 212,200 /153,280
O AR X2 LE 28| 12,420
Odet+ZH| 300,000 x 12 3,600
O&=)| gtz 35,0002~ 12& 420
OAlR4d gtz 700,000 * 122 8,400
ORNIStA EIIRIEE HA=E 1,400
OJl2es=d 100,000 7 700
Ozt 30,0002 +7&H 210
O&NHel s4+E 70,0002 +74 490
OFQUALUSIAI (B H X HE KHHIAY)
45,000,000 45,000
OgEs Al 22l 100
(@FSkel E~ps 50,0002 *H23] 100




2A:

Mo &

HEM: CAITHA
SRl DAY FE AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 5,568 6,000 N432
OSAMHESHEXZANE E322 2,940
o&JIea 200,000 x 122 2,400
Ostie:s 45,0003 * 128 540
Od2s AHdY 383R= 2,628
o&lIes 150,000& «12& 1,800
Ostles 45,0002 12 540
Odotrees=s 24,0002+ 122 288
301 LEtE NS 48,346 71,316 N22,970
11 AALAHIXIES 2,920 5,920 23,000
OSAITHMAHEXIAME 3|2/ 2,920
OZAMMEEHEIS 59 5 2|
8,000& x102+23|x 122 1,920
OFoASLtAIY JIEHEH]
1,000,000& 1,000
14 0Bt 2a3 45,426 65,3% 219,970
CATAREE X EHEH2E 45,426
OsFadEHy, SZ2ICUO0IH g5+
g 432,440 «8L « 12 41,515
O3t =& 81,4683 *421x 12 3,911
=0l &CH M 2IKCH K20 &0 36,345 52,154 15,809
101 21A4H| 36,345 49,754 A13,409
04 JIZtN2Z2 XS+ 36,345 49,754 A13,409
O ATHARHEXEHE SO 36,345
OdZ2A 3 2|
91,4803 x1H*262 « 12 28,542
OAIZRIZ 25
17,1523 x 18 +2A| 2H+82L« 123 3,294
Og&E=Itd| 200,000 x1 =23 400
OAUEE200I12RE) 3,629
-=0= 32,236,000 4. 5% 1,451
-AYL2E 32,236,000 *3.545% 1,143
“HAIQRYEE 1,143,0002%12.81% 147
-UEEE 32,236,000 *1.75% 565
—SHEE 32,236,000 *1.00% 323
O=LH04HI 20,0003 x1H 22«12 480
JISSl 12t 0120t SEots 2SS 23,733 66,074 N42,341
101 @124H| 23,733 49,754 AN26,021
MU IIRINZZENSES 23,733 49,754 N26,021
OFAMNYSHSXNAME SO 23,733
Od=2A A 22|
120,200 x1H+26 2«62 18,752
OAlRAZ25E
22,5303 x1H*2A| 28«6 2,163




A HEL S
HEM: CAITHA
SRl DAY FE AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O &SIl 200,000& x1& 12 200
OAU=2E20128E) 2,378
-=23=s 21,115,000 +4. 5% 951
A2 21,115,000 *3.545% 749
-HIIeLEE 749,000 %12.81% %6
-1ELE 21,115,000& *1.75% 370
~SHEE 21,115,000& *1.00% 212
O=U0d8l 20,0003 x 12«63 240
g3 - 522 A0t ZEA 310,000 20,000 290,000
307 212+01& 10,000 20,000 10,000
02 2B HAHE L 4,500 9,000 24,500
OXNSEZH Y AL HESEIE =IIAEYI
A& 4,500,000 4,500
03 P HHEE 22X 5,500 11,000 5,500
OXNSH22t Y AtANHESAE ZIIAEHI
A& 5,500,000 5,500
401 AIEHIZL SR 0HYI 300,000 300,000
01 AlZ8| 300,000 300,000
Og= - 922 AGH0HC ZEAY
300,000,000 300,000
gel 23Ul +&59 dss Y 1,011,500 1,057,000 45,500
= 584,000
< 73,000
Al 364,500
101 e124d| 83,809 87,837 A4,028
& 21,465
Al 62,344
M ORINZZENSE S 83,809 87,837 N4,028
OZAMNYHSXNAME S0 83,809
OdZAHE 22|
105, 845%1x2H+x262 122 66,048
=S 16,327
Al 50,721
S ETIEEES
19,8453 x2H*2A| 282+ 12 7,621
= 4,015
Al 3,606
Og &= Itd| 200,000 x22H+23] 800
= 200
Al 600
OAUEE2(0I12RE) 8,380
-=0H=3 74,469,000 *4 . 5% 3,352
= 690
Al 2,662




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
-AYL2E 74,469,000 +3.545% 2,640
= 526
Al 2,114
“HIQYEE 2,640,000 %12.81% 339
=S 61
Al 278
-UEEE 74,469,000 *1.75% 1,304
< 253
Al 1,051
“AHHEE 74,469,000 1.00% 745
= 153
Al 592
O=U0d8l 20,0003 x2Hx22 « 128 960
== 240
Al 720
201 er2 3| 55,600 53,800 1,800
= 24,000
== 8,200
Al 23,400
01 At22t2l] 51,760 49,600 2,160
O ATHMAE X HEEH 2] 11,760
OJl=g P83 300,000& * 122 3,600
= 900
Al 2,700
OAIR4 itz 680,000& » 128 8,160
S 2,250
Al 5,910
O=F2A LA 40,000,000 40,000
= 24,000
= 4,000
Al 12,000
02 S22l 3,840 4,200 A360
OSAHMHEXRAME 2322
320,000 122 3,840
= 1,050
Al 2,790
301 LeEN= 1,960 41,174 N39,214
= 1,230
Al 730
11 EAAHIXIES 1,960 4,920 A2,960
O AR XA HE 32|
8,000&*10E 12/~ 12& 960
< 480




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 480
OFHS LA 1,000,000 1,000
== 750
Al 250
401 Al HIZL 01| 870, 131 703,189 166,942
= 560,000
== 42,106
Al 268,026
01 Al&HI 870,131 702,189 167,942
O4E TAM HLAI
870,131,000 870,131
s 560,000
== 42,106
Al 268,026
NS def Sstagdi ggt A3 3H2857 &4 1,881,400 0 1,881,400
s 1,440,000
== 240,000
Al 201,400
201 2= 201,400 201,400
01 At22t2l] 201,400 201,400
O=FUAFLES MOA EIt?(E3 4
=g 1,400
OJlZ2ss=d 100,000 +7& 700
O=x=it==¢& 30,0002 +7& 210
O&3Ncl E4+d 70,0002 +74H 490
O=F2A LA 200,000,000 200,000
401 Al HIZL 01| 1,680,000 0 1,680,000
= 1,440,000
== 240,000
01 Al&H| 1,680,000 0 1,680,000
2Es TAITHEA 1,680,000,000& 1,680,000
= 1,440,000
< 240,000
CAH SHaX2 1,085,400 0 1,085,400
[ 500,000
= 84,000
Al 501,400
st COHAIY OIEEX TAIMY SR+ 1,085,400 0 1,085,400
[ 500,000
= 84,000
Al 501,400
201 er=23| 1,400 1,400
01 At2teltl 1,400 1,400




A Mdd &
M TAITHA

SRl TAITHA SHAXIF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONIetA EIIRIES HA=E 1,400
OJlzed=sg 100,000 7 700
Ozt 30,0003 +7 210
O&Nel s4+E 70,0002 +74H 490
401 AlEHIZL R0 1,084,000 0 1,084,000
s 500,000
== 84,000
Al 500,000
01 Al&HI 1,084,000 0 1,084,000
OF= Y TAMY HAXFAR & &
ASEtEE ZAL S 250,000,000 250,000
OFF S TAIMY HAXIR(SIHAIEX
) A 834,000,000& 834,000
= 500,000
< 84,000
Al 250,000
EXEA AL 143,933 67,190 76,743
S At 2tel 143,933 67,190 76,743
KT&G 2tcl2dg 143,933 67,190 76,743
201 et 3| 22,913 2,970 19,943
01 At22t2l] 20,513 570 19,943
OZAINY HAY 22AMF MA
4,750 x20=+63| *90% 513
OZSNEE HAES 20,000,000 20,000
02 S3=4gl 2,400 2,400 0
O2MEH ML=
200,000&* 12043 2,400
203 =4l 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
OHZAIY &HR=a 2,000,000 *90% 1,800
401 Al HIZL 201 119,220 49,220 70,000
01 Al&H| 119,220 49,220 70,000
O=22M=E ANEE FA2H] 19,220
Ons |XN=2=H| 5,0202+2,813.26m" 14,123
o188 =A2=4| 5,020 »648m 3,253
0218 |RXI2==H| 5,020& 367 . 17m’ 1,844
O=2MEE ST FA2e] 100,000
OzxZ 2| SAt 40,000,000& 40,000
OS2SNEE =E EX SAt
50,000,000& 50,000
OosgEE FAES 10,000,000& 10,000
CARFHSEEHIA 2,465,360 1,850,360 615,000
= 1,637,000
S 193,200




2A:

Mo &

B CALENBBFYIAL
Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 635,160
FHEZ LA 2,465,360 1,850,360 615,000
[ 1,637,000
= 193,200
Al 635,160
BIE(HO) HBIAS 140,360 890,360 A750,000
307 @12t0| & 20,000 0 20,000
02 2B YAIAE £ 20,000 0 20,000
OHIE HH HIE EEAY
1,000, 0002 *20= 20,000
401 AIEHIZ SR OHYI 120,360 890,360 AT770,000
01 Al&HI 120,000 890,000 AT770,000
gy FHH= =8 80,000,000 80,000
oy N = FIY ZLEAME
20,000,000 #20H 2 40,000
03 AIZ 2 THYI 360 360 0
ONIE B & FXE ZLA
40,000,000 *0. %% 360
FHAXS A0 ALY OHIH= =~ 44,000 44,000
401 AIEHIZ SR 0HYI 44,000 44,000
01 Al&HI 44,000 44,000
026 F XS M1 IHEALY OllUIH =
einge 22,000,0002 22,000
OF NI MEGI HEA CHAKIEA
9 22,000,000& 22,000
gAS ME0IES A 1,340,000 286,000 1,054,000
[ 938,000
= 120,600
Al 281,400
201 fer23| 147,400 147,400 0
= 103,180
& 13,266
Al 30,954
01 At2teltl 147,400 147,400 0
FUSS LA 147,400
OHNIetA EIIRIRS HA+E
1,400,000& 1,400
[ 980
= 126
Al 2%
O=FUSHZ A 146,000,000 146,000
[ 102,200
= 13,140
Al 30,660




2A:

X XH -
o=

M &t
AR FAHESEEEIAY

Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,192,600 80,587 1,112,013
= 834,820
== 107,334
Al 250,446
01 Al&HI 1,189,600 77,587 1,112,013
OYNE MESOIS Mgl
1, 189,600,000 1,189,600
= 832,720
== 107,064
Al 249,816
03 Al 20HHI 3,000 3,000 0
OgAS MS0tE At 3,000,000& 3,000
= 2,100
== 270
Al 630
SOHE FHAXS ME0H HZAIS (22 Dt=12l) 733,000 0 733,000
s 549,000
== 55,200
Al 128,800
201 2= 1,400 0 1,400
= 1,048
= 105
Al 247
01 Al222lH| 1,400 0 1,400
ORION BIISIRS| Ex2Y
1,400,000& 1,400
[ 1,048
= 105
Al 247
401 AIEHIZ SR OHYI 731,600 0 731,600
[ 547,952
= 55,095
Al 128,553
01 A28l 728,600 0 728,600
OS01Z HoXI MBI HEA (29
& ots1el) 728,600,000 728,600
[ 545,705
= 54,869
Al 128,026
03 Al = THHI 3,000 0 3,000
OS0lE FAXNS Y0 HEAA (22
& ots1el) 3,000,000& 3,000
s 2,247
= 226




2A:

Mo &

B CALENBBFYIAL
Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 527
S0E FAXY MESHA WA (E01H F012]) 208,000 0 208,000
[ 150,000
= 17,400
Al 40,600
201 er2 3| 2,800 0 2,800
[ 2,020
= 234
Al 546
01 AlR 21| 2,800 0 2,800
ONICHA BIISIRS EA ST
2,800,000& 2,800
[ 2,020
= 234
Al 546
401 AIEHIX R0 205,200 0 205,200
[ 147,980
== 17,166
Al 40,054
01 Al&HI 202,200 0 202,200
OS0E FAXNS S0 HEA (SO0
& F0lcl) 202,200,000 202,200
= 145,817
S 16,915
Al 39,468
03 A2 2 0HYI 3,000 0 3,000
Os0lE FAXNS M0 HEAIA (S0
& F0lel) 3,000,000& 3,000
[ 2,163
= 251
Al 586
dY2IFH(HELEM) 38,106 47,754 19,648
=&l 38,106 47,754 9,648
JI23Hl 38,106 47,754 29,648
201 2= 20,946 22,554 21,608
01 At2t2lt] 20,946 22,554 1,608
OJlzdRsdes Y (OIE3HI)
450,000 * 18 *90% 7,290
OJIEZHI(=&HI)
8,000 x 182 +7x 12 12,096
OBA&ZZIOY ME =2
130,000& » 122 1,560
202 04l 12,960 21,600 28,640
01 SLHoIH 12,960 21,600 /8,640




2A:
M. 5
o e

=aak

SA - BB - S(3H) - MRAY - BES Ol &b ot e HDS2
O=20oI(O1=AHl)
20,0002 x18H +x32 x 12& 12,960

203 YR =&IH| 3,600 3,600

M4 ENSIELRFEYI 3,600 3,600
O©J|Z=2H(202!10]lat) 300,000 x12& 3,600

405 KHaHE =H| 600 600

01 AL S EF S| 600 600
OANREXHA LX) 300,000 *2IH 600




